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Abstract
The evaluation process of transportation problem required finding
basic feasible solution (bfs). Represent the base of decision making
process. To purpose start anther batter solution to able from decisions
taking process, consider the decision making process, find (bfs)
represent the standard form in linear programming (LP). Most
important stage of update (bsf) stages that achieved minimum cost (the
optimal solution). the goal of paper to improving & evaluation (bfs) by
new procedure (proposed method) comparison with VVogel method.
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S2 5 3 8
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S3 1 6 7
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nd
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& 867 113 ... 10
S . 113 ... 10
-E ..................... 10
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10 20 5 7
s1 10 10 20 105 105 733 733 7.5
13 9 12 8| | JALE AAE a4 eeseens
S2 20 10 30 105 105 .
4 15 7 9
$3 20 20 875 8.75 6.67 6.67 55
14 7 1 0 R,
s4 40 a0 |°°
3 12 5 19
S5 30 10 40 9.75 9.75 9 9 4
Demand 50 60 20 20
8.8 12.6 6 8.5
7.5 14 7.25 1‘;'3
g 75 . 7.25 1‘;'3
5
& 567 oo 5.67 %
= z
5.67  ....... 567 TUUUC
35 ... 6 U
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(n=4) < (M=5) Laxe Ja s Ay b hidinls -
D1 D2 D3 D4 Supply
10 20 5 7
S1 20 20
13 9 12 8
S2 30 30
4 15 7 9
S3 20 20
14 7 1 0
S4 0 20 20 40
3 12 5 19
S5 10 30 40
Demand 50 60 20 20
. j=ni=m
Min(2) = ZZCinij: 960
=1 i=1
n=5) > (M=3) Lt Junal) 4y jh aladiady - §1(4) Jla
D1 D2 D3 | D4 D5 | Supply Differences
7 6 4 5 9
S1 200 100 300 6.2 E
8 2 1 0 3
$2 400 | 100 | 100 600 28 15 15 122 05
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o 733 5 3 267 4.67
e 5 3 267 4.67
S 45 25 15 25
E e e 25 15 25
D ------------
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D1 D2 D3 D4 D5 | Supply
7 6 4 5 9
st 200 100 300
8 2 1 0 3
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7 7 4 3 2
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DL | D2 | D3 | D4 | D5 | D6 | D7 | D8 | D9 | D10 | Supply
0] 30| 50| 70 20 40 20 35 40 5 o
s1 | 250 150 100
20| 30| 35| 45 65 55 25 15 10 50| 200
) 300
20| 10| 20| 15 30 25 45 55 60 35 4
s3 400 300
60| 15| 30| 20 60 45 35 40 25 0 e
sS4 50 200
20| 20| 35| 25 55 40 30 50 20 30 [ s
s5 | 300 | 50 400
10| 25| 25| 30 40 35 25 45 30 0 00
s6 | 450 200 50
20| 30| 15| 40 35 15 20 40 10 351 200
s7 500
25| 35| 10| 50 25 20 15 20 25 550 100
S8 50 50
30| 45| 25| 35 15 30 10 30 30 I s
S9 150
55| 30| 45| 15 20 10 20 15 25 5 o
510 150
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DL | D2 | D3 | D4 | D5 | D6 | D7 | D8 | D9 | D10 | Supply
0] 30| 50| 70 20 40 20 35 40 15 .,
s1 300 100 200
20| 30| 35| 45 65 55 25 15 10 501 200
) 300
2 10 20| 15 30 25 45 55 60 5 00
s3 500 | 150 | 50
60| 15| 30| 20 60 45 35 40 25 0] e
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20| 20| 35| 25 55 40 30 50 20 KT
S5 200 | 100 | 450
0] 25| 25| 30 40 35 25 45 30 0 00
6 700
20| 30| 15| 40 35 15 20 40 10 I
s7 400 100
25| 35| 10| 50 25 20 15 20 25 51 100
S8 50 * 50
30| 45| 25| 35 15 30 10 30 30 KT
S9 150
55| 30| 45| 15 20 10 20 15 25 5] s
510 150
Demand | 1000 | 500 | 200 | 300 | 300 | 600 | 100 | 500 | 400 | 200
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